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E- Support and Learning Material
Subject: Maths (Arts)        					                     Grade : 10
Unit 1: Algebraic Formulas and Applications
Exercise 1.1
[image: ]
[image: ]
[image: ]
[image: ]


[image: ]
Activity
1. If , then find 
2. 
Homework
1. If , then find  and 
2. 
I. 

Exercise 1.2
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Activity
1. Solve the following questions using formulas
a. 
b. 
Homework
2. Find the value of  if  and 
3. Show that 


Exercise 1.3
1.	Remove the radical sign from the denominator
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Activity
Q. Simplify
i.	
ii	
Homework
Q. If , then find the values of  and 
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o x> -4x+4 . x

e x2-4 xS
Solution:
x:—4x+4+ R x—2x 2x+4 x=2
e=dh =) REEED X -
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x(2x=1)E 4x* -1
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% 3x*-1 - 4x*+4x+1

Solution: : J
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Formulae:

(@£ b)*=a’+ 2ab + b?
(a+b)* +(a—b)>=2(a> + b?)
(a+b)*—(a—b)*=4ab
(a+b+c)’=a’ +b’ +c?+2ab + 2bc + 2ac .
(azb)’=a’+33b Sa:l:b)ib3
a® +b° = (a + b) (ab’— ab + b%)
2 b’ =(a—b) (@ +ab+b?
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Solve the Following Questions Using Formulas.
B &2 e x-2y)°
Solution: (x + 2y + (X ~ 2y) .
=x”+2(x) (2y) + (2y)" +(x)" = 2(x) (2y) + (2y)"
=X’ +4xy +4y’ + x* —dxy +4y?

= Zx“ + h‘y“ A

)




image9.jpeg
B (+my)d-m@+m)@+mY
Solution: (I +my) (= m) (I +m? (* + m%
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B Cpra)’
Solution: (2p +q)*
=(20)" +(a)' +3(2p)(a) (2p+q)
=8p’+q°+6pq(2p+q)
=8p”+q’ +12p’q +.6pq’
=8p’ +12p’q +6pq’ +¢’
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B 64a°-p°
Solution: 64a° —b°
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18.  Find the value of a* + b? + c?if ab + bc + ca =

Solution:

a+b+c=6
(a+b+c)2=(6)2
a’+b’ +¢’ +2ab+2bc+2ca =36
al+b2+cz+2(ab+bc+ca)=36
a’+b’+c? +2(11)=36
a’+b’+c’+22=36
a’+b’ +¢’ =36-22
a’+b*+ci =14 .

11anda+b+c=6.
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1. Remove the radical sign from the denominator:
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‘2. Simplify these expressions:

® V2+8
Solution:
V2 +8 =2 +2x4
=V2+V42
: =\/§+2«/5

=V2(1+2)=3\2
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3. Rationalize the denominators of the following:

3 1 it 1
(i) TS : (i) v
Solution: Solution:
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SEmEe s i
—-(B-2) =4
=2-3
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5V7

() 2+3V
Solution:
ST $2=3\7
24307 0+3f 2-37
: 5V7(2- 3()
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5J—(2 347)
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_10V715x7 _(105-10¥7)
=0 =50

_—(105-107) 105 1047
= 59
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1 pEn
4. I x = /5 +2, then find the values (i) x+—;nnd(li) X

Solution:
X=v5+2
Rl R
X V542 V5-2
T eyl
& («/§+2) J§—2)
1_ (N
X (ng_(z)z
10 V50
XS =V5-2
X+%=~/§+2+\/§~2
x+i—2«/§

(o2 = (2v5)
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l Encircle the Correct Answer. (x)

P
1.  An algebraic expression of the form a%,Q(x) #0,P(x)and Q(x) are

polynomials, is called a:

(a) rational number - (b) surd 2
(¢) rational expression (d) mixed surd
2. (a+b)-(a-b)}’=2? :
(@) 2(@*+b%)  (b) 4ab (c) —4ab (d) a*+b
3. (atbl+(a-b)’=2?
(a) —4ab . (b) a*+b’ (c) 4ab () 2(@°+1BH
4. .(a—b)(a’+ ab+b2)=? L :
@ (a-by ®) @+b’ () a’-b (d) 2°+b’
5. (a+b)@*-ab+by)=? g
@) al—b’ ®) (a+b)’ (¢) (a-b) d a’+b’
' 6. a’+3ab(a+b)+b>=2? : e Y
| @ (@xb) =) (a=b)i | (@) Bl (@) &b’
7. a—-3ab(a-b)-b"'=? p
.- @ 2+b’ ® @+b’ () a-b d) (a—b)’
8.  Anirrational number that contains radical signs is called a:
; (a) mixed surd 3 (b) surd
(c) rational number = (d) natural number X
9. a =a"? asurd of order: i
- (a) zero (b) 1 : (c)p2s @ 172
10. Surds can be multiplied, if they are of the -
' . (a) someorder . (b) order2 (c) differentorder (d)  ordern ;
& - - Answers: o 4

t BN surd . 2. 4ab 3. 2@+vY 4. P-b i a’+b’°

6. (awfb)3 7 (a—b)3 8, surdi £ -3\, 95 T2 10. some order
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Solve: : o
8 IfP(X) =X +3x%-5x + 9, llwn find P(x), for x=0, X!
Solution:
IR I— xU48x% = Sx 49
PO =" +3(0)~5(0)+9
=0+0-0+9=9
P() =('+3(()*=501)+9
—l g e
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G HP(X) = ﬁ— , then find P(1) and P (2).
‘S'olulxon.
Y P(x) = \—’ixH)
VX1
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